
SAMPLE QUESTION PAPER, 2017-2018
Class-XII

LIMBOO
Time allowed : 3 hours Maximum marks : 100

1 rQa]af k]o[Dn[G kfk-dfnfD Yrf]s-dfY rQSkfDd] t[GblIa[Kdf] ;fKt[C. (4)

2 df] s[aKkf cfTtlGpfI ;QD;l ;QTnfxfC nf];f]s- rf]uQ;[C: (3)
kfIe]CV sGV c]ufIV ;QDV vfDa]s-V dQb[G

3 d[Nn[Ijfaf ;QTnf cfSv[G kFlSsf] ;[Ddf ;QSt[TZ y]w];lZ (3)

4 df] s[aKkf cfTtlGpfI nl;l os-k]af ;QTnfxfCF[G sQa] ;fKt[C: (4)
v[DdfV tf]s-dfV nlIdfV n[KdfV n[MdfV ;Q

5 df] s[aKkf cfTtlGpfI nl;l ;QTnfxfCF[G nt-nt- ylSk]os- ;QTnf ;fKt[C. (2)
cfIWWWWufCW sQwfIdfV ySnfV os-V oQSmf]V ;lSjf

6 y]clG ;f]s- d[d[TtQCZ cfSv[G kFlSkf d[jfCZ (3)

7 df] s[aKkf cfTtlGpfI nl;l ;QTnfxfC clSn[In[G sQuf]cl;lS ;[GbQ;[C: (2)
nQIwfSV t[GpfafV sQFQDV t[NnSV xfFfFfV xlDdf]

8 s[F[;Qaf cfTtlGpfI ;QD;l dQSkfg-xfC ;fKt[C. (3)

9 df] s[aKkf kfg-pQDdlG glF[CcfI sQ;lI glt-tC[ xGgfI df] s[aKkf ;]g-nfKxfCF[G

gf]uK ;fKt[C.

sG clS;fu[G vfDa]s-sf] ;QjfI--_;QjfIn[G j]Cj]C ;fSylD gQ ;i-hQDef] jfC.
sG ;fSylD gQ ;i-hQDef]cf] ;QjfIxfC d[xli[cfI d[jfC. tulaf o[DxfCcf] y] kf]s-v[V
v[GxfC s[F[S cfGgl;QDdlG. sNn[ nfulu ;fKdQGwQDdlG g;fg- d[Ghf]s-s] d[af]i-g[G.

;i-hQDef]clG ;QjfIn[ c]]gfFf]efI ;fKdQGwQDn[ cfglC ;b];fI cfd[Tt[ cfoQF[cfI
jfC. cfTtlG ;QjfIilG cfSv[DefOS yfi-bfSmfaf gQ sQGw]bfIafV vf;fDaf jo[;fi-
hQDef] nfDafc] v[G kfg-n[G sQhfCcl sQ;lIglt- vf]b[T. sGbIaf ;i-hQDef];lufI
kFlS kFlSkf ;fSylDxfC d[ofS. ;fSylDxfC gf]afcfI d[jfCVm[DafcfI d[jfC. gf]af
;fSylDn[ ;QjfIn[ ylIufC ;[k-tQ sF m[Daf ;fSylDxfC ;i-hQDef] gQ nfh]CF[
yf]af]cf] xDef] d[af]i-.

;i-hQDef] gQ ;fSylDnDQdf] cfKmfn-n[cfI ;[Ddf d[GpQSdfgf sfcl jfC. ;QjfI gQ
nfh]CF[G yf]af] kf]i-df tul ;i-hQDef]F[G yf]af] kf]i-df o[s-kf jfC. ;i-hQDef]cf]af

m[GwlDxfCF[ nfh]CF[G yf]af]cf] ofIof d[TtQC. sSs]bIaf m[GwlDxfCd f] nfh]CF[Gyf]af]
d[af]i-g[G. sNn[ kUdfIulu cfglC ;fKdQGwQDnfDaf cfPf];QDn cfjfC. nfh]C

vf;fDaf gQ sQGw]bfIaf kf]i-df tul ;i-hQDef]gQ v[G;lufIaf ofKdlxfC sQGw]bfIaf gQ
vf;fDaf d[Daf]i-i] d[af]i-g[G. ;i-hQDef]cf] ;f]jf tAdfaf]i-V klKmQOI kf]i-dfaf]i-.

(i) sG clS;fu[G vfDa]s-sf] ;QjfIxfC y]x[Kdf] d[xli[cfI d[jfCZ (1)



(ii) tulaf o[DxfCdf] s[af]i-af kfg-xfC n[MdfF[ nful y]x[Kdf] g;fg- rf]s-dfaf]i-Z(1)
(iii) cfTtlG ;QjfIilG cfSv[DefOS yfi-bfSmfaff gQ sQGw]bfIafV vf;fDaf jo[Z sG

kfg-n[G sQhfCcl sQ;lIglt- y]nfD vf]b[TZ (1)
(iv) ;i-hQDef]clG y]Ff]efI ;fKdQGwQDn[ cfglC ;b];fI cfd[Tt[ cfoQF[cfI jfCZ (1)
(v) gf]af ;fSylDn[ y] rf]uQ xGgfI m[Daf ;fSylDxfC y]w] d[af]i-Z (2)
(vi) ;QjfI gQ nfh]CF[G yf]af] kf]i-df tul y]F[G yf]af] kf]i-df o[s-kf jfCZ (2)
(vii) nfh]g- vf;fDaf gQ sQGw]bfIaf kf]i-df tul y] rf]s-df o[s-kf jfC Z (2)

10 dfi-Pf s[oQIaf s[GhQDdlG cfSs] rf]s-d[Nn[ ofSyQI ;fKzSF[ yf]af] rf]s-d[Kdf]
nSmf s[Kdf ;QSt[T v[G kfg-glG r[St[F zSclIPIwlS ;fKt[C. (5)

11 df] s[aKkf cfTtlGpfI nTylS yfdlI;fDbfI 200 ;QTnfcf] ;QD ;fKt[C:- (5)

(i) vglI o[D

of

(ii) ofSyQI ;fKzS

12 cfTtlGpfI nTylS yfdlI;fDbfI 150 ;QTnfdf] ;QIgft- ;fKt[C. (5)

(i) ofSyLIF[G d]s-sfDylD

of

(ii) s]

13 cfTtlGpfI g[Tpl ;]g-nfKxfCF[G gf]uK ;fKtQ;[C. (6+6=12)
(i) ;QSvlDaf xfIPlDdlG xft-n[ nfKr[GhlgQ tQDnf]i- rTtQZ cSs]FlS xfIPlDdlG

rKdfF[G k[GhlclG y] jo[Z
(ii) kA rf]s-;lI gQ dA dfFf]t-tl;lF[ vQGplC c]d[G cfSs]bIaf yfIa[G;lTgQ d]s-vlD

rf]s-df klCdf ;[KdfI dfSt[;QcfI jo[ Z kA_dAF[G ;[KdfIilG yOI rf]uQcfI
mQI;fdf xft-gQ mfTrf k]Z

(iii) c]]Gbfg- ;]]aU clS;fcf] s[af]i-afF s[aKkf o[s-kf m[Gh[DxfC y]w] d[jfCZ
;]]aU clS;fcf] cfSs]af ofd-aSslG cl;-stlI nCFlS sQ;lI kf]i-Z

14 cfTtlGpfI ;QD;lF[G kbfIbfIaf gf]uK ;fKtQ;[C. (1+1+1=3)
(i) mQI;fdfF[G sQDaAF[G sQdlI y] jo[Z
(ii) mQI;fdf xft-gQ mfTrf k]Z
(iii) ;QSvlDaf nQDdlxfI tf]s-vfI bf]g[OU gfDu[clG alqtl;-xfCF[ y] dlI d[alFQcfI

jo[Z
(iv) ;[FlD s[uQafxfCF[G tQDb[G cfTtlG t[Gx[Kdf] g[;[Z
(v) ;]]aU clS;fclG y]nfD oQIb[D s[af]i-af clS;fa]Z

15 gf]uKt[C (cfTtlGpfI nTylS). 6
(i) t[NnSs[ c[Sn[F[ sQgQD xlIdGglG cfSs]af kf]i-Z



(ii) ylSo[G cfbfIa[Nn[ xfI;lI y] v[xQg- d[TtQZ

16 kbfIbfIafcf] gf]uK ;fKt[C. (1+1+1+1=4)
(i) kfIe]Caf d[GpfOxfCF[ t[NnSs[ c[Sn[F[G sQeQIdlI y] d[jft-tQcfI jo[Z
(ii) t[NnSs[ c[Sn[F[ xft-tlG tIa] ;QD;lc]ufI d]s-vlD d[Tg[ d[TtQcfI jo[Z
(iii) xfI;lI c]ufI y] kf]s-v[Z
(iv) m[qIs- t]d[G nfh]CF[G cfTtlG t[Gx[Kdf] yS;Qaf ofd-aS rf]s-gQ ofu[Z

17 sQ;l;fIxQK ;[M;[C (cfTtlGpfI nTylS). 6
(i) Ffd-V slq;-gf gQ z]z];fDaf aQwxfCF[G

ol;Q ufGwl gQ salUxfCF[G
gf] vfxQg- v[DdfF[ nful
v[g[Ccf]c] tfdf kf]i- ;]g-nfK;[.

(ii) rfNnlS nf]s-tl Ff] dQTylqS kf]ul Ff]
rfNnlS ylSxQD kf]s-vl Ff] nCFlS
kQa]_;Qa] jfCdf o[D xf]k- nf] cfGnfCg[G nf]
cfNn;fI cDef glIjfC tM]gQ
cfGplIdfF jfCdfuq.

18 df] s[aKkf cfTtlGpfI nTylS ;fDdlnfF[G sQ;lxQK ;fKt[C. 6

(i) xlD rf]uQD

of

(ii) vQg[C

19 tfIa[Kdf] gf]uK ;fKtQ;[C (cfTtlGpfI g[Tpl). 2+2=4
(i) v[g[C ofSyQI x[Ss] nCF[ ;fDdlnfdf] ;fDa[Nn[ sfSgQn-n[ oDaf m[ofclG y]

kft-tQcfI jfCa] Z
(ii) xlD rf]uQD ;fDdlnfdf] ;fDa[Nn[ cfTtlG xlD rf]s-dfF[G ;Qhf cfaClF kTZ
(iii) dlS tulaf glofFfxfC ;fDdlnfdf] ;fDa[Nn[ y]w] glofFfxfC gl;Q;lZ

20 gf]uKt[ (cfTtlGpfI g[Tpl). (3+3=6)
(i) dgxfIn[ sQ;fDdlG k[Ty]jf t]Cd[GgfI ;fD ;fdfc]af]i- nCFlS tQDofIxfIxfCF[

y]cfI d[aft-tQZ
(ii) gQgfDeQIn[ cfKmfn-n[cfI d[Nn[Tt] x[KtQuTtQafV sQoQuTtQaf sQDnf];lufI y]w]

d[ofu[Z
(iii) kfxfI y] nCF[cfI df;lIZ

21 kbfIbfIaf gf]uK ;fKt[C. (1+1+1+1=4)
(i) gQgfDeQI rQSt[Nn[ sQxlDdf]af sQcQt-dlI y] jo[Z
(ii) gQgfDeQI cfTtl ;fjfg-plGgfI jo[Z
(iii) dgxfI xft-n[ sQ;f jo[Z
(iv) gQgfDeQI gQ dgxfI;lF[ ylS;lu]s-kf tQDdQcl cfTtl kf]s-v[cfI jo[Z

***


